STUDENT A

The town of Frostburg experienced a bit of a heat wave during January of this year. The graph below
shows the curve of best fit that represents the low temperature for every day in January.

Temperature (°C)
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{271 , -5}

A newspaper journalist is writing a story on the weather and needs to report some information. He
needs a bit of guidance with interpreting the graph.

1. Write a few sentences describing the key characteristics of the graph as it relates to the
context of the problem. Be sure to include domain, range, intervals where the function
increases and decreases, x- and y-intercepts, and any other important information.

Dom,o-‘f\ i (C’/ ‘{/ 6/ w, 2t -de‘) - rcpre-;er-f'f Hhe o/}j o f :/’/’}E— P :j;-ﬁu@/j

ﬁzaﬁja: (?/ g, -3, 0/ -Lé/ 0} - fe/gf!:'f""’-f dhe '/‘7“"‘/0"”’6'["'fL (Co)

?f[(—' /f’?"{""(vafj Q/G.f‘rf'dvéﬂ_ ] (ﬂf 5) Lo [d/ —2:\') aw@/ Jrom (/(}, "} Aa /2:’}’, -&f.\l'%

-~ i

ES I A :vcn"’ ,",,, - . ® !
VEXS e f retEge [ S, Cé-/ "“2.) 710 C{ﬁ/a) FYtey Ira'm (?I; @é) ’?’a /25/ ﬂ‘}

Alhenr on e '/7--4'%/)’/ Aha /(’/y/qﬂ(fc/e‘--,cv S /Vfr;f,,uffp/ - (‘)"C



jsl47365
Text Box
STUDENT A


STUDENT A

The graph below shows the curve of best fit that represents the low temperature for every day in

February.

Temperature (°C)

Three different models have been proposed that could be used to determine the
temperature for a particular date in February. The models are given below:
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Model 3: y = ne seporert Im Fhe o/rn_o»».la.qlo/

None of these models are completely appropriate for the graph: Explain what is incorrect
- - . —_“
with each of the models and then suggest and justify a better model.
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The weather in July showed a related pattern to the weather in February. The curve of best fit for July is

shown helow:

(3,15) ~ (20,35)

Temperature (°C)

Date

3. Explain the relationship between the graph for February and the graph for July. Use that

relationship to create an equation for the temperatures in July.
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STUDENT B B

The town of Frostburg experienced a bit of a heat wave during January of this year. The graph
below shows the curve of best fit that represents the low temperature for every day in January.

Temperature
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A newspaper journalist is writing a story on the weather and needs io report some information,
He needs a bit of guidance with interpreting the graph.

1.

Write a few sentences describing the key characteristics of the graph as it relates to
the context of the problem. Be sure to include domain, range, intervals where the
function increases and decreases, x- and y-intercepts, and any other important
information.
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The graph below shows the curve of best fit that represents the low temperature for every day in
February.

Temperature

2. Three different models have been proposed that could be used to determine the
temperature for a particular date in February. The models are given below:

Model 1: y =ax’+bx+c (Quodsatc
Model 2: y = ax + 3)(x +9)(x +20)

a

Model 3: y = (x-3)(x - 9)%(x —20)

None of these models are completely appropriate for the graph. Explain what is
incorrect with each of the models and then suggest and justify a better model.
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STUDENT B

The weather in July showed a related pattern to the weather in February. The curve of best fit
for July is shown below:

(3,35 - (20,35)

Temperature

Date

/

3. Explain the relationship between the graph for February and the graph for July. Use
that relationship to create an equation for the temperatures in July.
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STUDENT C C

The town of Frostburg experienced a bit of a heat wave during January of this year. The graph
below shows the curve of best fit that represents the low temperature for every day in January.

(G, 8)
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(21,-6)

A newspaper journalist is writing a story on the weather and needs to report some information.
He needs a bit of guidance with interpreting the graph.

1. Wiite a few sentences describing the key characteristics of the graph as it relates to
the context of the problem. Be sure to include domain, range, intervals where the
function increases and decreases, x- and y-intercepts, and any other important
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STUDENT C

The graph below shows the curve of best fit that represents the low temperature for every day in
February. s

\

i

Temperature

Date

2. Three different models have been proposed that could be used to determine the
temperature for a particular date in February. The models are given below:

Model 1: y=ax®+bx+c

Model 2: y = alx + 3)(x +9)(x +20)

a

Model 3 ¥ = F =3)x -9y (x —20)

None of these models are completely appropriate for the graph. Explain what is
incorrect with each of the models and then suggest and justify a bgetter model.
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The weather in July showed a related pattern to the weather in February. The curve of best fit
for July is shown below:

{3,39) {20,35)

Temperature

Date

/

3. Explain the relationship between the graph for February and the graph for July. Use
that relationship to create an equation for the temperatures in July.
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STUDENT D D

The town of Frostburg experienced a bit of a heat wave during January of this year. The graph
below shows the curve of best fit that represents the low temperature for every day in January.

Temperature

Date

(21,-8)

A newspaper journalist is writing a story on the weather and needs to report-somé infOrmatién. :
He needs a bit of guidance with interpreting the graph. '

1. Write a few sentences describing the key characteristics of the grap'h as it relates to
the context of the problem, Be sure to include domain, range, intervals where the
function increases and decreases, x- and y-intercepts, and any other important
information.
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STUDENT D

The graph below shows the curve of best fit that represents the low temperature for every day in
February.

Temperature

2. Three different models have been proposed that could be used to determine the
temperature for a particular date in February. The models are given below:

Model 1: y=ax’ +bx+c
Model 2: y = a(x + 3)(x +9)(x +20)

a

Model 3. y = (x - 3)(x - 9)*(x - 20)

None of these models are completely appropriate for the graph. Explain what is
incorrect with each of the models and then suggest and justify a better model.
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STUDENT D

The weather in July showed a related pattern to the weather in February. The curve of best fit
for July is shown below:

{2035}

Temperature

Date

/

3. Explain the relationship between the graph for February and the graph for July. Use
that relationship to create an equation for the temperatures in July.
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STUDENT E E

The town of Frostburg experienced a bit of a heat wave during January of this year. The graph
below shows the curve of best fit that represents the low temperature for every day in January.

{0.9)

Temperature

4.0)

(6.-2)

(21.-8

A newspaper journalist is writing a story on the weather and needs to report some information.
He needs a bit of guidance with mterpretmg the graph

1. Write a few sentences descnbmg thL key ]charactertstlcs of the graph as it relates to
the context of the problem. Be sure to include domain, range, intervals where the
function increases and decreases, x- and y-intercepts, and any other important
information. m{{ 2%
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The graph below shows the curve of best fit that represents the low temperature for every day in
February.

Temperature

2. Three different models have been proposed that could be used to determine the
temperature for a particular date in February. The models are given below:

Model 1: y =ax’+bx+c
Model 2: y = alx +3)(x +9)(x +20)

a

Model 3: y = (x - 3)(x - 9)%(x - 20)

None of these models are completely appropriate for the graph. Explain what is
incorrect with each of the models and then suggest and justify a better model.
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The weather in July showed a related pattern to the weather in February. The curve of best fit
for July is shown below:

(3,35 (20,35)

Temperature

Date

/

3. Explain the relationship between the graph for February and the graph for July. Use
that relationship to create an equation for the temperatures in July.
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s STUDENT F F

The town of Frostburg experienced a bit of a heat wave during January of this year. The graph below

shows the curve of best fit that represents the low temperature for every day in January.

1
(0, 8)

Date

Temperature (°C}

(21, -5)

A newspaper journalist is writing a story on the weather and needs to report some information. He
needs a bit of guidance with interpreting the graph.

1. Write a few sentences describing the key characteristics of the graph as it relates to the
context of the problem. Be sure to include domain, range, intervals where the function
increases and decreases, X- and y-intercepts, and any other important information.
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The graph below shows the curve of best fit that represents the low temperature for every day in
February., '

Temperature (°C)

2. Three different models have been proposed that could be used to determine the
temperature for a particular date in February. The models are given below:

Model 1: y =ax® +bx+ ¢ -

Model 2: y = a(x + 3)(x + 9)(x + 20)

a

Madel 3: y = D9 (—20)

None of these models are completely appropriate for the graph. -Explain what is incorrect
with each of the models and then suggest and justify a better model.
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STUDENT F

The weather in July showed a related pattern to the weather in February. The curve of best fit for July is
shown below:

(3.35) ~_ {9,39) £20.35)

Temperature {°C)

Date

3. Explain the relationship between the graph for February and the graph for july. Use that
relationship to create an equation for the temperatures in luly.
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STUDENT G G.

The town of Frostburg experienced a bit of a heat wave during January of this year. The graph
below shows the curve of best fit that represents the low temperature for every day in January.
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A newspaper journalist is writing a story on the weather and needs to report some information.
He needs a bit of guidance with mterpretlng the graph

1. Write a few sentences desc;nbmg thle key. Ic:haracicenstics of the graph as it relates to
the context of the problem. Be sure to include domain, range, intervals where the
function increases and decreases, x- and y-intercepts, and any other important
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STUDENT G

The graph below shows the curve of best fit that represents the low temperature for every day in
February.

Temperature

2. Three different models have been proposed that could be used to determine the
temperature for a particular date in February. The models are given below:

Model 1: y=ax’+bx+c
Model 2: y = a(x + 3)(x +9)x +20)

a
(x = 3%x - 9*(x - 20)

Model 3: y =

None of these models are completely appropriate for the graph. Explain what is
incorrect with each of the models and then suggest and justify a better model.
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STUDENT G

The weather in July showed a related pattern to the weather in February. The curve of best fit
for July is shown below:

(3.35) {20.35)

Temperature

Date

/

3. Explain the relationship between the graph for February and the graph for July. Use
that relationship to create an equation for the temperatures in July.
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STUDENT H \’\

The town of Frostburg experienced a bit of a heat wave during January of this year. The graph
below shows the curve of best fit that represents the low temperature for every day in January.

0,9

Temperature

(4,0)

6.-2)

(21.-8)

A newspaper journalist is writing a story on the weather and needsrt‘o report some information.
He needs a bit of guidance with interpretmg the graph

1. Write a few seniences descrlbing’ th}a key pharacterlstlcs of the graph as it relates {o
the context of the problem. Be sure to iniclude domain, range, intervals where the
function increases and decreases, x- and y-intercepts, and any other important
information.
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STUDENT H

The graph below shows the curve of best fit that represents the low temperature for every day in
February.

Temperature

2. Three different models have been proposed that could be used to determine the
temperature for a particular date in February. The models are given below:

Model 1: y =ax’+bx+c
Model 2: y = a(x + 3)(x + 9)(x +20)

a
(x - (x -9 (x -20)

Model 3: y =

None of these models are completely appropriate for the graph. Explain what is
mcorrect with each of the models and then suggest and justify a better model.
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STUDENT H

The weather in July showed a related pattern to the weather in February. The curve of best fit
for July is shown below:

£ 1 03 : (20,35)
[
[
0,
5
fm Date
3. Explain the relationship between the graph for February and the graph for July. Use
that relationship to create an equat[on for the temperatures |n July
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